Grade 3 – Math SBAC Sample Items
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Click all of the shapes that are
quadrilaterals.
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Which expression is equal to 3 x 7?

® (2x7)+(1%x7)

@

(7x5)-2

(B3x4)+(3x5)

® (3x4)x3
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Maya says that a rhombus
cannot also be a rectangle.

Show Maya that her statement is
not true.

Use the Connect Line tool to

draw a rhombus that is also a
rectangle.
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Use this number line to solve the problem.
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Choose all the number lines that show a number equal to the number
shown by point P.
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Christy has $60 to spend on
plants.

She buys a peach tree for $23
and a plum tree for $19.

She wants to buy one more
plant.

* Drag the numbers to the

boxes and the symbols to the
circles to create an equation
to show how much money

Christy has left to spend.

e« Select one plant she could
buy with the money she has
left.
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O Grapevines, $16
O Apple tree, $18
QO Pear tree, $20

O Cherry tree, $22
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A pencil has a mass of 25 grams. An apple has a mass that is 75 grams
more than the pencil.

What is the mass of the apple, in grams?
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A city park is in the shape of a rectangle. The park is 120 feet wide and 55 feet long.

55 feet

120 feet

Enter the perimeter, in feet, of the city park.
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Juan draws a polygon with a perimeter of 36 units. He covers the area of the polygon with
tiles that are each 1 square unit.

5 units

2 units

4 units

9 units 7 units

Key

E‘ = 1 square unit

n units

Part A: Enter an equation that could be used to find the value of n in the first response box.

Part B: Enter the number of tiles Juan uses to cover the polygon in the second response box.





